X
s

U - Sy

=

AHEE R
5% \E B/ B (CTHRAR)

FIE £%5=AF

1.1 A%AK
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1. A 2. OA=0D.OB=0C.AB=DC. /1=/2./A=/D,/B=/C 3. 57.8.5 4. B 5 D 6. 57
7. (D ANADEXNABF  (2) /DAE=20°, /FAE=90° 8. 50° 9. D 10. B 11. 2em 20° 12. DE| BE
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1. C 2. /B=/CED 3. AABDXNAACD 4. % 5. C 6. AC=BD. " OA=0B, /AOC=_/BOD, OC
=0D, .. NAOCLABOD, . AC=BD 1. " AC ¥4 /BAD, .. /BAC= _/DAC. 'WAB=AD, AC=AC,
S AABC2NADC, S /ACB=/ACD, .. AC¥4r/BCD 8. "* AB=AC, /A=_/A, AD=AE, .. NABEX
NACD 9. . /BAC=_/DAE, .. /BAD=_/CAE. . AB=AC, AD=AE, .. AABDX2NACE 10. " AB//
DE. .. /A=_/D. " AF=CD, .. AC=DF. " AB=DE. .. AABC/ADEF 11. BE=CD. *' CD.BE /3j|}&

AB. AC gk, .. AD:%AB, AE:%AC. W AB=AC, .. AD=AE. '* A= /A, ;. NABEXL/ACD,

S BE=CD 12. (1) /BCA=_/DCA. > /1=,/2, .. /DEC= /BEC. . EC=EC, EB=ED, .. ABCEX
ADCE, . /BCA=_/DCA (2) LADC=_/ABC. "0 ABCEX2ADCE, .. /BCA=_/DCA, CD=CB. " CA=
CA, J. NABC2NADC, ~. /ADC=_/ABC

L3 WEZAWEFHEMQ2)

1. ANABCR2AFDE MR ¥5 ASA 2. B 3. C 4. v /3=/4, ;. /ABC=_/ABD. “AB=AB, /1= /2,
o NABCRANABD, & AC=AD 5. D 6. W 7. W 8. /B=_/E, AC=DF, /ACB=_/DFE 9. Ii%
10. % 11. " AC. BD HA#¥4y,. . EA=EC, EB=ED. ' /AEB=_/CED, .. NAAEB2ACED. .. /A=_/C.
" EA=EC, /AEM= _/CEN, ... AAEMX2ACEN, .. EM=EN 12. W%

1.3 RE=ZAHAFHEHEG)

1.C 2.C 3. D 4. 108 5 °* AB=AD, CB=CD, AC=AC, .. NABCLANADC, ~./1= /2
6. "~ AC=BD, .. AB=DC. "> AF=DE, BF=CE, .. NABFADCE, .. /E=,/F, /ABF=_/DCE, .. /1
=2 7. AF//DE, W% 8. /R 4K AD 3]G i GD=AD,##: BG 9. W% 10. B 11. /B=_/C,#%4%
ADFBINS 12, SEIFAABEXACDF, 18/ AEB= /CFD, )\[fit%./ AEO=_/CFO, FiiE AAEOL ACFO 7] 1%

1.3 WE=ZABALEFHEHW

1. AABD2AACD, HL, CD, /CAD 2. /A=_/A", /B=_/B', AB=A'B’, BC=B'C’ 3. C 4. D
5.59° 6. BE 7. W% 8. Z.HHEE 9. DO® 10. . AD ¥4y /BAC, DE | AB, /C=90°. .. CD=ED,
~/BED=_/(C=90°, ** BD=DF, .. ACDFAEDB, .. CF=EB 11. ' AC4y/BAD, CE| AB, CF | AD,
.. CE=CF, /BEC=_/F=90°. ¥ ** BC=DC, .. ABCEX2XADCF, .. BE=DF 12. ' AC|CE, BD| DF,
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S /ACE=_/BDF=90°. ' AE=BF, AC=BD. .. NANACER2XABDF, .. /A=_/B. " AE=BF, ..AF=BE.
. AC=BD, ... NACFABDE, .. CF=DE
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Lol B o 2. C 301 4.D 5.D 6. (1) (2) (3 (6) 7. (4 (5)(6) 8. (4. [FAXFHA I
B 9. (D W (2) AB=A'B',AC=A'C',BC=B'C’ (3) 4cm 10. B 11. B 12. B 13. @ X FRBF5E
2 AN R Z ] A6 8 56 2 IR AR DR SE IR 19— BUE XS 4T 5 BB 5 65 X RE R P 0T QAT 2 3T & 5 RE
M —ANEIEES, MEE R &G A S E S QM EHIRITHE— 2K X @ AR 40w b /) WA~ BB B
— AR IR AKX AR R R EE R Z X R EDE o i 2 s %t fx 140 D 15, C 16, A 17. D
18. D 19. B¢ 20. (D O5® OFO® (@ mg 21. B 22, B 23, B

2.2 EhxFARGGMER

1. nI.B.M 2. 20cm 3. PA=PB 4. ¥ 5. fAVPHLMEERL 6. 6 7. $#R:. 0 A, /B oLk,
K2EE O 8. PR m ABAC W ET402k 388 P IRAR 9. BC=3 AC=5 10. j AB a4 f L #H38
Bf, 8 P HA —A4 32 AB By P aRZOR L PATT, 8 PORTETE: 2 AB R a4 A L A, 08 P A BECS 1L 0%
12. IEAG.FEHEE 13, 16 14, JC%C 1 15, XFRMAELGXIREL4 16. D 17. C 18. B 19. 15
20. (DEN BD ¥4y /ABC, /C=90°,DC_|_BC.DE_| AB.Jitlk DE=DC. [HJ}ff 4348 - 1 &5 B3 A 1 99 34 4 BB
BifH4%  (2) FADE 24:Bt AB IR H V4R I L AD=BD. 28 Beali 14028 1 1 55 5155k 4 4 B G o 1 B 785 A 45
(3) 3§ CD=DE=1 cm,AD=BD=2 cm, fif L) AC=AD+CD=2+1=3(cm) 21.(1) B (2) 6 22. 60°

2.3 &It shATAREE

1.D 2.C 3. B 4D 5 C 6. B 7. X[ ih 8 TEMEL 9. 8 10. B 11. 10>k 12. (D &
B 34 4% (B 13. 8% 14. A 15, % 16 HFS 17. 4:40 18. @ 19. BE 20, WE
21. W§ 22, 7 23. 100°

2.4 KA Eh AT AR

1 48 2 MESLTTEEZL 3.D 444 5.4 6.4 7.D 8. D 9. 6% 10. 6cm 11, BRAME—,
M AD=AB, /ACD=_/ACB% 12. W& 13. M%, M VP 0% LS8 M0MPmANERMHEYE 14 D 15 B
16. 42° 17. #B% .7 18. 5cm, 3 cm, 13 em 19, W& 20. #g 21. (D #E (2) 10 em 22. 16 23. 15
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1. 45° 45° 2. 75 3.D 4.90 36 5.40° 60° 6. | CD EC 7. AED 8.C 9. /A=36", /ABC
=,/C=72° 10. &R CBD=_/EBD=_/ADB 11. #&/R: /AEF=_/BED=90"— /FBD, /AFE=90"—
L/ABF 12, #2757 CD "W EM.%E45 EM 13. 6 cm3f 14 cm 14. D 15. D 16. B 17. 8 18. 100° 19. %
20. (1) AE=BDUER AFAACE2ABCD)  (2) AMCN R%31 =6 (4275  3iF AMCDX ANCE) 21, 0§
22. DM=MEUE/R %% BM, iF/ABMDXACEM) 23, dLH A4 43510 150°,60°,90°,75°
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1.5 = 2.17 24 41 5a 12k 3. 5emi#{6cem 4. 7.5,8.5 5 24em AfEER PhHEAR 6. 4
/34 7.12 16 20 8 (1)2.94cm? (2)3.5cm (3) 1.68cm 9. 5,5.6 10. 12k 11. #5445 EC
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3.2 AR TIDH 5T IR
1.10 2.30 3.D 4 A 512 6.36 7.120° 8 B 9. D 10. 42 11. ZE=fiLa i =M 12. 0k
13. D 14. D 15 SFEEM MK 16. B 17, AN :a® —10a+25+6° —24b+ 144+ —26c+169=0, H} (a—
524+ (b—12)2+(c—13)2 =0, .a=5,b=12,c=13. X 52+122=132, . .a® +H =c2, . NABC HHfA =M 18. 324
19 HA=ME 200 SE=/AF 21 "0 &+ =(a+0)2—2ab=100—2X18=64,c2 =64, " o>+ =c%,. . W=F
W EHM =

3.3 AR E I A
1.D 2.5 3.64 4B 5 C 6B 7.C 8 2 9.30 10. 10 11. fABERE 92-+122=225=152, 4}

15 m N ESR I E R 9+15=24m 12. B 13. C 14. D 15 C 16. A 17. 35 18. 10 19. /nT4
20. 8 AC. " /B=90°, . NABC REf=fMF. "~ ACC=AB+BC =8 +62=10%, " AC>0,.. AC=10. £
AACD 1, ° ACC+CD?=100+576 =676 ,AD> =262 =676, .. AC>+CD?=AD?,.". NACD RHEM =M%, . ACD=
90°, .~ Smmﬂg,m(p:sA/\B(:‘FSAm,‘D:%><6><8+%><10><2/1:14/1 21. OA=6X2=12 km,OB=5X1=5 km,
* /BOC=_/AOC=45%, .. /BOA=90". #t Rt/\NAOB W, i A it 5 . AB? =122 +52 =169, AB=13 km. i{H . 2.7
MHHEE 13 km 22, iU AABA A = M7 .t s BR T T8 AR 0 AA" =2 X2

=4, AB2=AA24+AB=42+32=25,.". A'B=5m 23. IEAFHE R 2 m, W48

KR et Dm AR A BE B S 2% +3% = (2 + D2 45 2 =4 A& B 4 m

24, " NRVREDG I SHU AT E MO R  GE B AR -, BO=CAAC ol 1A
OC=45—z, AW E BT 51 OB +0C? =BC?. X °° OA=45,0B=15, % A X & 18 :
1524 (45— )2 =2 Iy BA 1 =25 Com). 20« W0 SR/ INBR VR B0 MO L 5 L 388 A5 O o B
AZE B AHLER AATE YA BCJ2 25 em 25, (1) MBS, 45 5 X2+aa23 em  (2) 4% b
DE, th /A i Fi45 : DE? = DF? + EF2 =1202 4-90% =22 500, ] DE=150. Bl % ix — KI5 & ENEm
XLl 150 em, A h=220—150=70 (cm)
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4.1 FHik

L2 4 20 35 BATH 3 A 410/0 —12 £ 5 2722 8.608 6.C T A 8D

9. W& 10, B¢ 11 (D) z==46 (2) 2=+9 12 <1>II:%,12:7% (2) 21=8,2y=—10 13. W 14. C

15. D 16. 4 17. =1 18. 16 19. 6% 20. 6% 21. (1D 8m? (2) ik K/8=~2.8m 22 ‘T:*%,y:

L
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m mh o mh
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FIRA a1, 5FLA99+++9X99-+-941 99+ I FEAF- IRy 107
mA m mA>
4,2 ZLaAk
L2 0 =22 41,0 3D 4 -1 15— —& —a6D7C8&DILDH> @<
@B< W< 10, DL @03 @60 W 1L D=6 D ar=—p Ba=—1 @ r=—2
12. 14em 13, % 14, HOMIREL 15, 2.224 22.24 16. C 17. D 18. A 19. a<0,/a® +Va@ =—a+a=0
20, a=3.b= V50 —3.at+rab—g + /50 2 (D —% (@ £0.1 () —a—1 2 a=3.b=6, %/ =
+27
4.3 %= X

LoJCHg se¥2. > <3 D45 & 5/3+H5 63 —1.001 7.<0 8 C 9.D 10. AC=
V2o |32 =3
JIZTE=4/10 11 —2 12 —/2<0.3<[1-/3|</3<1Z 13.| —~z—/3| 0 |/2t/3]| 14 —4,
V3 V2—/3 | 2
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20, 242 21 (D1 () —7 (3 2/2+H/3 D avx—by

4.4 AR

13,14 3.14 2 2.72X10° 3 3. A 4. (D fEME (@) EME 5. C 6. B 7.0.020 2 8. 3.142
4 9.(1) —1.55X10t  (2) —3.54X10%2 (3) 1.06 (4) —1.11X10%2 10. (1) 37 024a<3. 7X10* (2) 3 045a3.0
X100 1L (1) A A MESEE (2 Al 3PMAESEE ) T 3 MEHEE 12, 3.815<<x<73. 825
13. 8% 14. B% 15, B 16, B 17. 5.00X1072 18, 1.035X10° 1.04X10° 19. 6.749X107 20. B 21. B
22. 2.1m 23. 5. 84 cm?
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1. (3,5 4#ESEE 2. (D ARfE () ABE MW 3. D; As BUNFKE 4. (D (2.4 (1.6) (4,2)
(2)D C 5 (D &M BH/NG ETAEM B BNFBMES (2 B AMC  (3) e RO A& %
TEWABARES M M. 6. (1) B CsE D (2 B CsE#®D 7. (1) B(2,6) C(6,2)
A(6,10) (2) P(6,6) (3) P47 W4T 4 AB=4J2 8. (1) W (2) FHBWEWAERR Q2.9 (10,50%
IRFEFFROA R 9. JLfl LA BRI (0,00, (1,0),(3,2),(3,4),(5,4),(5,6),(7,6),(7,8) 10, (1) (2,3)F /=
“BE QRN EEME TGS 2 51 5 34T, A Z A AL E (1, 1D (3, 1) (4,2)(4,4) (2) BE 11 B
12, W% 13, (1D 77° 1.3em 130m () L JbfWZR 35° 14. (1) B(4,3)  (2) 41 A(2,5)—>(3,5)—>(4,5)—>
(4,)—>B(4,3) (3) A B B BRI 6 4 15, (D fEEINE (2 B EHEE 45 19 cm, SRR
J£190 km
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1 EH KA 2.0y x 3.0 vy 4y x 5 FBEE HYBER @) 6. B 7.C 8 D 9. (4,58
4, —DE(—4,1) 10. 5 11. (0,0) (2,2/3) (4,00 12. (1000,600) (400,700) (1 100,200) [a] 7§
900 mAub  ZRiE 400 K dbE 300 K bR 45° REMRVE 45° 13. W% 14. D 15. D 16. D 17. ¥ BD X%

AC FE HIEHEMK N 3,0 AC=3 VZ,E Jy AC th i, AE= EB= DE =~ /2, FF LA0,0), C (032 »
B(2/2.202).D( =202, 202) 18 (1) A'(—2,0) B/ (2,00 €04 /T RIS = I A5 K M= A

BB (2 A'(—2,—2V3).B'(2,—2/3).C'0,0) AEED = /A, LM FFH T 2/3 0800 19, 0

20 (D A(16.3) Bi(32.0) (2) A,(20.3) B,(271,0) 2L (%g #) 22. Ll E WABRIEL . BC 7

il

TEHZN « il AE Frfe HER v ST A AR BR FR L W A S A BR A (0,3), B (AR A (— 3,00, C s A4 R (2,00, D
EARAR (5,3 23, (1) V61 (2) 6 (3) b=t
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6.1 & 4

1. Mi— H W EEL 2. y=0.4n n.y 0.4 H%¥n n y 3.C 4D 5B 6.D 7.B 8 C.r
2r 9. S=dn—4(n>2) 10. y=a—bt+ct 11. s=—30r+120 (0<{r<<4) 12, y=0.5x+10 (0<<x<<10)

13, (D oBfEfks (2) a=—3 (3) .Ti% (4) x>1 14. D 15 C 16. y:% (x2>0)

ala+1)
2

17. y=—9x+50 18. =2 H a3 19. 21 26 24 20. () #HFE1.3.6.10 (2)S= 21. (D) 3B

@ W REl&2h (3 5/NEMHMET 20km 22, (110 ()1 (3)3 (4) #0.92 13.85
6.2 — KR &

1. y=katb k£0) b=0 y=kxr 2. DOO® OO® 3.1 y=2xr 4 —4 5.3 —1 6.B 7. B
8. C 9. (Dm==%2 (2 m=—2 10. (1) y=—502+20000 (2) 300 11. (1) s=500—80¢ (2) 0=<r<<6. 25

(3)5h 12, & 50— 3n=k(2y+6m), . y:%.rfw

(2) 0<a<<35 (3)8.4cm (4)35min 14. B 15. C 16. 3 17. 2 y=—z+3 18. y=1.52+28 19. y=
—zF40 20, yp=150x,yz =160x—160, HAAFCA BT 16 AmFik ik T4k, #Ead 16 ARk H k174, 14 16
NI S 8 Z AT —FE 21, (1) 31 =200X20+40(x—20) =40x+3 200, ys=200X 20X 90% +402 X 90% =
3600+36x  (2) # y1<ys, HI 402+3 200<C3 600+ 36, fifp5 <100, # 24 20<2<C100 Bf, Wi B —; 45 1 =
2, Bl 4023 200=3 600+ 361, i#15 x=100, 524 +=100 B, B PP I G — % )7 R 58 y1 > y2, Bl 40243 200>
3 600+ 36, fiff A3 2>>100, 8034 x>100 B, NEFE T L 22. (1) Q=40—06¢ (2) 5/hEF (3) W

6.3 —RFFeEL

Dy B M—WREE 13, (1) y=21—0. 6

1. —H% 0,0 2 (73 o)\ 0, —3) 3. C 4 (D 0<z<<6 () —1<<y<<2 (3) (4,0) 5. y=

—3x—5 y=x 6.C 7.A 8 D 9. (1) (%, ()), 0,2) (23,0, 0, 2) 10. (1)y:%172 2)

%I (3) (4, 0), (0, —2) (4) >4 11. 1.5km 12. (1) yip =200+ 20z, yz, =30x, 5 20 K s 7= 48[
(2) 5515 REETH, WAL M i m 40 25 RESTR, 2 M7 /w13, y=—6a—4 8 y=10x1+12 14. 3 7‘ H
TR 15. a#V/3.6=42 16. k<2 17.C 18. C 19. (Da=—2,b=1 (2) —4 (33 20. (1) M(2,0),

N, 4 (2) A Samon =4, Fr LA SAI”()M:%ﬁ SAP(JN:%- P AR R (s —220+4) N P STESFH—RIR,
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(5 5 ) 3% Snrov =B BIFON « o= a=— Jill P& (&, 5 ). wfupmmﬁ(%,%)az

(% %) 21 y:—fﬂﬁy:—%fﬂ 22. (1) % 0<<e<C1 600 I, ¥ A %2+ 3 o =1 600 I, P54 9%
BE; 2 2>1 600 B, BEMAR% (2) M 230 (1) B4 mGT 473, WA AL B FE B S 190 km 4b, N
40 km/hs 10 1EJ7 AT B4R 7 B AR B i 2200 80 km Ak, 3SR 50 km/h - (2) BEAHIE 24 (=3 h i, 7255 A4

70 ko A A1
6.4 A—RFBEMR A

1. = 2. =5 3.C 4 2>—-2 5 C 6 A 7. (LB (2)A 8 B 9.B 10 (1) m<% (2) m##

%, n>—2 (3 m;é%, n=—2 11 () W} y—4 5z BUEHH] BT y—4=ke (k7#0), y=kx+4.48 2=

60 y= A RA LR b=l v 5 ZIMEEE AR y= ot (D W (3) AGL ). BO, .5

IR O B 90° IR H 7 6 A BT AE LSRR RT3 =5 2 617 I e 3 P P

fatr =l y:ixﬂ 12. (1) y=200x+8 600 (0<<a<<6) (2) 200x+8 6009 000, f#EfE +<<2, +=0.1.2, 44
SFZEHZE  (3) 2=0 0, R KiZ %K 8 600, XA BATiZEZH 6 5. ATTEHH I 10 5. 2228

13, (1) y=36x (0<2<2), o =72( 28) ( é<x<%> @ Em (3 361:72(1—%),%215;1:%,

FRLLMATERE A 3 24 km 38 F18% 14, C 15, B 16, y—drt2 17, 1~<7% 18, y=—0. Lo-1200 (0<

<4000 HREED  19. (1) 300 390 (2) y=20X0.1Xx—10X (z—120) X0. 1+10X 120X 0. 1 =2+ 240
(3) TG VR A AR R IUE G BB 20, (1) y=18X402x="720x. Iﬁ%ﬁ}ﬁn’vk TR0 AN R O i ) [

7K i BT (200 —2) X 5040, 2<<111 - F)fuw‘rﬂﬂﬁﬁxﬁ{ﬁ]mo<f<m EE  (2) W=720x+

6[50(200— ) —40x]=1802+60 000, [_quW;EJz B — K eRE H W B« E/Ji"j(fr'ﬁi"j( Mo RGBT LY a=
111 B, I R s Wi = 180X 111460 000=79 980. 2 : Z¢HE 111 4 T AFEAT K= FAS I T., 89 & T A #5/K 7™ i
kAR 210 (D MO AFTEMEE N 10 %ﬂé/ﬂﬂ‘ FEFEZE R S 20 TR /) QEFEZE L AT 3
AN K s O EEFEZE L VAT A R0 /N s @ EEFE A AR & P B /N @ HATEAT R T 8 /N BEFEAEAT 58
SRR T4 5/ (2) BEFHET « /T8 EHATS B 200=10 X3+ 10, i3 2=3. 25 EFL 455 3 /et &
BEATE. 220 (D 60 (2) BICRMERBOCRN y=rka+b. BN EHLT L (100, 60) 1L (200, 110), T LA
100k+b=60,

1 ) e 22 b 1
k== 0=10. FTLL y 5 = WERBXRARX N y=—2+10 (3 260>>100, fif I =260
200k-+b—110. fitf 5 b BTk y 5 x BB R y =52 KA BTl «

ﬁ/\y— 210,44 y=140. % : AL 260 FER, AL 2% 140 T8 23, (1) 900 (2) Y& AT 4 hinf M2 4
E'E’%ZM[IM (3) 182K 75 km/h, JRZE# R 150 km/h - (4) y=2252—900(4<x<(6) (5) 0.75h
6.5 —RIVE_TL—RFAE

1. o K 2. (3.5) y=2x—1 y=at2 3. J'Q% >3 1‘>% 4. yi%x*%,Zr*y:*S 5.y

1

=4x—5 T H 6.2 7.C 8 B 9. fi 2x+y=1.1 y=—2x+1;: i a+2y=—4.15 y=— 52— 2. fEF—H

FMPRRNIED — KRB y=— 221 WA L Fly=— ; =2 MR L BRGSO L AR
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10, 1l 20— y= 2.1 y=20-H 2511 20— 5y =101 3=z — 2, fE [ — LA AR P U — KBy =22

r—y=—2,

£ 2
IR 1 =S WP Lo AT 1 0 A0 o B30 P (. —s) et {0 ke
C xr—Ooy=

-5
jj{l 27 1L fEH y:%‘z'-‘r\? R, /g5 « g T2, 0),Eﬂ‘i’u~<f2w,%1+3<o 12, $ZE A bR
y=—3

Bk FZ y=350120,Y a=7 I}, y=265;4 x=10 i}, y=370; 24 =15 i}, y=545 13. 1<k<%yﬂﬂ¥ k=1.2

. r—2y=—5 - =—2 -
;1.4 14. A 15. 16. & & Vi1 17. y=3z+5 y=—=——2 (—2,—D
xty=1 y=—1 2
18. (1) 138 JHK (2) y=27x+3,2Y =20 i}, y=27X20+3=543(JFK) 19. (1) py=1 000+ (a+1000) X
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